FPRM L R AT (0 AL TR AT AT

2, PIRMHET (HE—KER)

IS B
( .
: KMER dhAd. IR S 5;;::,: r iy i dk Ay it
100 I BN 5 HERR R DS-
i 0
' wesmen 2CDIT45-LA A f e - -
100 73R 4% 4 <Rk 3 MR DS-
2 58 1400 81200
Bl 2DC44231W-DE KA f
. 400 TN AR W HEEAR iDS- R » a — -
# 2DC7423MW-A
4 RPLE #F HEERAR DS-16022] HTLHL M 4 61 48 2928 -
5 ey #3 HEBRAR DS-2205Z] HTITHUM A 140 8 1120
6 FeBiER i3k SFP-SM1310 RERM A 24 144 3456
7 AW RS PiHE RG-FC116-3A REEM *t 6 220 1320
8 | mExEs BHX HSYV-Se wo | sok/m | a0 | ekl I/ asea
2L SN 73_’23",\\‘
4B 8 CUB62-V- B w ] S |
9 ANHERL; R 300 k/4 10 . |- 680 6300"
4P-GY P L ':IL\[ -
vy
10 [ #L5HEL | WH/AIERW2. L5 | HAZM | 100K/% | 30 W), 360 1. ~loso0
N 204 14 =
11 2%]1 HFL AXIF RVV2*1. 0 Hlt2 M 100 /% 30 300 9000
12 4*1 B lifE 54 B ZC-RVVP HRZM 100 k/% 20 480 9600
13 12 4T % 12B1, 3 RiK * 3000 1.8 5400
14 6U M4 LiE [f 45 50043004400 Hilz=M fi 23 180 4140
15 4 D23 i1 73 MM A 12 18 216




RPN (32 70 800 005 R A AT 22 )

16 SC¥ 2 D173 MM 18 35 1680
17 T KRN HlEm 18 12 576
18 L L) I #x 30044004180 1 10 18 480
I DS-19A08-
19 RN " - WL B 4 2200 8800
01BN
i3 HEAR A DS-PK-
eaaa LRT (4330812) / AR vie| { 354 1416
: DS-PMO8-
21 8 B (X Madil 8tk *‘mis HILHM 46 350 16100
22 MR ER A S &&u&&;:ls-}’osux— AR 354 95 33630
23 HEARAES #ERE AR DS-PS1-R EiAR | 23 72 1656
24 il E 7= 12V7AH ERAR TR 4 114 456
b2 DS-29K00-
25 EES ﬁmﬂ\{ b AR | 4 114 456
26 iR EI#7 30A12V AT B 44 - 160, 7| 010"
T i
5 HEBRAR NP- =i 4
27 R — &L x e O 19 1 950 18050+
FVY210-P & o i
\” . ,:\5\':%\?(
% N
3 REBRAA DS- 05,
£ 1 N
28 BEFAH i WL & 4 9600: \f 38400
29 A 754k ST10000 WM 91 1180 107380
3 BEBR AR DS-VE22S-
30- 1 % % N aiadtasi M 1 18000 18000
o4 'S
31 WRAA esure ETEAR IO 1 2400 2400
Center-SM
GERMEHET 6
¥ is
32 RN Wngare P him 1 8250 8250
Center-VMS

10




BSLRAN 0 s L 700 07 1 P I AT LA )

33 H¥ UK iSecure S & . 2400 2400
Center—ESCPMS
34 RPN 99 HER AL DS-VW55 WM % 1 18700 18700
35 v PR 5 MO DS-VW55 BLRIRTR | = 1 39600 39600
36 RURPHER 3 HERR AR DS-VW55 AT 3 1 6500 6500
37 S uy 5 BER L DS-6A04UD PILRM a8 1 8700 8700
38 NS 5 BERUT DS-6A08UD HITHRA & 1 10800 10800
39 AR R 15 Kaig £k Y iR 13 160 2080
IETE:
40 HEBREXR NN Qif e HICHUM A 13 360 4680
41 420 HliE E 7= 600X1000X2000 HRZM & 1 1200 1200
42 NEZES E = AR F X HREM E =3 1 1176 1176
43 =12 Er= HRZM b1 1 20000 20000
BiFEM: 15 (580366.00 78) K5: MARHIAZTEE ﬁﬁ?‘*ﬁﬁ
\ g/ 17 /iz'/ \/

BIRALR (JRAF) .

ARSI ) éﬂ T, o

H .

11

2024 £_4 A

12

H




